TASK ORDER #: 1			
CONTRACTOR:	Waterfront Property Services, LLC dba Gator Dredging	CONTRACT NUMBER	R: 233-11070
	13630 50th Way North	CONTRACT DESC:	2012-2013 ANNUAL DREDGING
	Clearwater, FI 33760		CONTRACT - P11729
	Phone: (727) 527-1300		
	Fax: (727) 527-1303	CC AWARD:	1/22/13,PUR-7,CAM# 13-0118
	bill@gatordredging.com	UNIT COST:	\$661,226 CONTRACT CAP
TO:	City of Fort Lauderdale	CITY CONTACT:	Elkin Diaz, PE
	100 North Andrews Avenue	PHONE:	(954) 828-6539
	Fort Lauderdale, FL 33301	FAX:	(954)828-5070
PROJECT NAME: An	nual Canal Maintenance Dredging (6 Sub Projects)	FUNDING SOURCE:	P11729.231-6599
PROJECT LOCATION	: 11729F - Luna Canal (Sub-Project No.: 1)	TASK ORDER DATE:	
	Ft Lauderdale, FL		

SUMMARY OF WORK: Mechanical Dredging and disposal of 16 cy of sediment

	BILLING RATES INCLUDE	D IN CONT	RACT	No. 10 Page 1	
ITEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
		Paul Paul			
1	Mobilization (Also covers 11729G (Bentono)See contract 2-mile rule)	1	EA	\$15,500.00	\$15,500.00
2	Hydraulially dredge, sand and silt material		CY	\$44.30	\$0.00
3	Hydraulially dredge, loose rock, concrete, etc		CY	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material	16	CY	\$52.45	\$839.20
5	Mechanically dredge, loose rock, concrete, etc		СҮ	\$58.50	\$0.00
6	Properly dispose dredged material	24	TN	\$1.00	\$24.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	24	TN	\$32.00	\$768.00
		8		*	\$17,131.20
	10% contingency				\$1,713.12
				Total:	\$18,844.32

By: Man Date:

TASK ORDER #: 1			
CONTRACTOR:	Waterfront Property Services, LLC dba Gator Dredgi	ng CONTRACT NUMBE	R: 233-11070
	13630 50th Way North	CONTRACT DESC:	2012-2013 ANNUAL DREDGING
	Clearwater, FI 33760		CONTRACT - P11729
	Phone: (727) 527-1300		
	Fax: (727) 527-1303	CC AWARD:	1/22/13,PUR-7,CAM# 13-0118
	bill@gatordredging.com	UNIT COST:	\$661,226 CONTRACT CAP
TO:	City of Fort Lauderdale	CITY CONTACT:	Elkin Diaz, PE
	100 North Andrews Avenue	PHONE:	(954) 828-6539
	Fort Lauderdale, FL 33301	FAX:	(954)828-5070
PROJECT NAME: An	nual Canal Maintenance Dredging (6 Sub Projects)	FUNDING SOURCE:	P11729.331-6599 WH
PROJECT LOCATION	: 11729G - Bentono Canal (Sub-Project No.: 2)	TASK ORDER DATE:	
	Ft Lauderdale, FL		

SUMMARY OF WORK: Mechanical Dredging and disposal of 40 cy of sediment

	BILLING RATES INCLUDE	D IN CONT	RACT		
ITEM #	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
1	Mobilization (Also covers 11729G (Bentono)See contract 2-mile rule)	0	EA	\$15,500.00	\$0.00
2	Hydraulially dredge, sand and silt material		CY	\$44.30	\$0.00
3	Hydraulially dredge, loose rock, concrete, etc		CY	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material	40	СҮ	\$52.45	\$2,098.00
5	Mechanically dredge, loose rock, concrete, etc		CY	\$58.50	\$0.00
6	Properly dispose dredged material	60	TN	\$1.00	\$60.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	60	TN	\$32.00	\$1,920.00
					\$4,078.00
	10% contingency				\$407.80
				Total:	\$4,485.80

By: Will Grad 5-19-14
Authorized Signature Date:

TASK ORDER #:				
CONTRACTOR:	Waterfront Property Services, LLC dba Gator I	Ore <mark>dging</mark>	CONTRACT NUMBER:	233-11070
	13630 50th Way North		CONTRACT DESC:	2012-2013 ANNUAL DREDGING
	Clearwater, Fl 33760			CONTRACT - P11729
	Phone: (727) 527-1300			
	Fax: (727) 527-1303		CC AWARD:	1/22/13,PUR-7,CAM# 13-0118
	bill@gatordredging.com		UNIT COST:	\$661,226 CONTRACT CAP
TO:	City of Fort Lauderdale		CITY CONTACT:	Elkin Diaz, PE
	100 North Andrews Avenue		PHONE:	(954) 828-6539
	Fort Lauderdale, FL 33301		FAX:	(954)828-5070
PROJECT NAME: Ann	ual Canal Maintenance Dredging (6 Sub Projects)		FUNDING SOURCE:	P11729.331-6599 WW
PROJECT LOCATION:	11729D - Balboa Canal (Sub-Project No.: 3)		TASK ORDER DATE:	,
	Ft Lauderdale, FL			

SUMMARY OF WORK: Mechanical Dredging and disposal of 400 cy of sediment

	BILLING RATES INCL	UDED IN CONT	RACT		
ITEM #	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
1	Mobilization	1	EA	\$15,500.00	\$15,500.00
2	Hydraulially dredge, sand and silt material		СУ	\$44.30	\$0.00
3	Hydraulially dredge, loose rock, concrete, etc		СУ	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material	400	СҮ	\$52.45	\$20,980.00
5	Mechanically dredge, loose rock, concrete, etc		CY	\$58.50	\$0.00
6	Properly dispose dredged material	600	TN	\$1.00	\$600.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	600	TN	\$32.00	\$19,200.00
					\$56,280.00
	10% contingency				\$5,628.00
				Total:	\$61,908.00

Gator Dredging, Inc.

By: // Conghl # 5-19-14

Authorized Signature Date:

TASK ORDER #: Waterfront Property Services, LLC dba Gator Dredging CONTRACT NUMBER: 233-11070 CONTRACTOR: CONTRACT DESC: 2012-2013 ANNUAL DREDGING 13630 50th Way North CONTRACT - P11729 Clearwater, Fl 33760 Phone: (727) 527-1300 CC AWARD: 1/22/13,PUR-7,CAM# 13-0118 Fax: (727) 527-1303 UNIT COST: \$661,226 CONTRACT CAP bill@gatordredging.com CITY CONTACT: City of Fort Lauderdale Elkin Diaz, PE TO: PHONE: (954) 828-6539 100 North Andrews Avenue FAX: (954)828-5070 Fort Lauderdale, FL 33301 FUNDING SOURCE: PROJECT NAME: Annual Canal Maintenance Dredging (6 Sub Projects) TASK ORDER DATE: PROJECT LOCATION: 11729E - Aragon Canal (Sub-Project No.: 4) Ft Lauderdale, FL

SUMMARY OF WORK: Mechanical Dredging and disposal of 16 cy of sediment

LEFT PARTY		INCLUDED IN CONTI			
TEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
1	Mobilization	0	EA	\$15,500.00	\$0.00
2	Hydraulially dredge, sand and silt material		CY	\$44.30	\$0.00
3	Hydraulially dredge, loose rock, concrete, etc		CY	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material	16	CY	\$52.45	\$839.20
5	Mechanically dredge, loose rock, concrete, etc		CY	\$58.50	\$0.00
6	Properly dispose dredged material	24	TN	\$1.00	\$24.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	24	TN	\$32.00	\$768.00
					\$1,631.20
	10% contingency				\$163.12
				Total:	\$1,794,32

Gator Dredging, Inc.

By: WM O langed so.
Authorized Signature

5-/9- 14 Date:

TASK ORDER # CONTRACT NUMBER: 233-11070 CONTRACTOR: Waterfront Property Services, LLC dba Gator Dredging CONTRACT DESC: 13630 50th Way North 2012-2013 ANNUAL DREDGING Clearwater, FI 33760 CONTRACT - P11729 Phone: (727) 527-1300 Fax: (727) 527-1303 CC AWARD: 1/22/13,PUR-7,CAM# 13-0118 bill@gatordredging.com UNIT COST: \$661,226 CONTRACT CAP TO: City of Fort Lauderdale CITY CONTACT: Elkin Diaz, PE 100 North Andrews Avenue PHONE: (954) 828-6539 Fort Lauderdale, FL 33301 FAX: (954)828-5070 P11729.331-4599 PROJECT NAME: Annual Canal Maintenance Dredging (6 Sub Projects) FUNDING SOURCE: PROJECT LOCATION: 11729 i - Rio Verde Canal (Sub-Project No.: 5) TASK ORDER DATE: Ft Lauderdale, FL

SUMMARY OF WORK: Hydraulic Dredging and disposal of 114 cy of sediment

国际 经	BILLING RATES	S INCLUDED IN CONTR	RACT		
ITEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
	· · · · · · · · · · · · · · · · · · ·				
1	Mobilization	1	EA	\$15,500.00	\$15,500.00
2	Hydraulially dredge, sand and silt material	114	CY	\$44.30	\$5,050.20
3	Hydraulially dredge, loose rock, concrete, etc		CY	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material		CY	\$52.45	\$0.00
5	Mechanically dredge, loose rock, concrete, etc		CY	\$58.50	\$0.00
6	Properly dispose dredged material	171	TN	\$1.00	\$171.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	171	TN	\$32.00	\$5,472.00
					\$26,193.20
	10% contingency				\$2,619.32
				Total:	\$28,812.52

Gator Dredging, Inp. langht. = 5-19-14
Date:

Authorized Signature

\SK ORDER #	CHILDREN CONTROL CONTR		
CONTRACTOR:	Waterfront Property Services, LLC dba Gator Dredging	CONTRACT NUMBER:	233-11070
	13630 50th Way North	CONTRACT DESC:	2012-2013 ANNUAL DREDGING
	Clearwater, Fl 33760		CONTRACT - P11729
CALL STORES	Phone: (727) 527-1300	44 S8 60 10 5 - 0	
	Fax: (727) 527-1303	CC AWARD:	1/22/13,PUR-7,CAM# 13-0118
	bill@gatordredging.com	UNIT COST:	\$661,226 CONTRACT CAP
TO:	City of Fort Lauderdale	CITY CONTACT:	Elkin Diaz, PE
	100 North Andrews Avenue	PHONE:	(954) 828-6539
	Fort Lauderdale, FL 33301	FAX:	(954)828-5070
PROJECT NAME: Ani	nual Canal Maintenance Dredging (6 Sub Projects)	FUNDING SOURCE:	P11729.331 -4599 KW
PROJECT LOCATION	: 11729B - North Fork New River at Harris Ter Canal	TASK ORDER DATE:	
	(Sub-Project No.: 6) Ft Lauderdale, FL		

SUMMARY OF WORK: Hydraulic Dredging and disposal of 16 cy of sediment

TEM#	ITEM DESCRIPTION	Qty	UNIT	UNIT PRICE	TOTAL PRICE
	TEM DESCRIPTION	- Cay	Ollit	ONTTRICE	TOTALTITIC
1	Mobilization	1	EA	\$15,500.00	\$15,500.00
2	Hydraulially dredge, sand and silt material	16	CY	\$44.30	\$708.80
3	Hydraulially dredge, loose rock, concrete, etc		CY	\$70.00	\$0.00
4	Mechanically dredge, sand and silt material		CY	\$52.45	\$0.00
5	Mechanically dredge, loose rock, concrete, etc	90 0 E = -	CY	\$58.50	\$0.00
6	Properly dispose dredged material	24	TN	\$1.00	\$24.00
7	Trim trees and/or remove fallen trees out		EA	\$400.00	\$0.00
8	Dredge material from various drainage outfalls		CY	\$38.00	\$0.00
9	Allowance for dumping fee	24	TN	\$32.00	\$768.00
					\$17,000.80
	10% contingency				\$1,700.08
				Total:	\$18,700.88

Gator Dredging, Inc.

By: Will Oling M in 5

Date:

CITY SIGNATURES:		
- · · · ·		_
Project Manager	Date:	
Hardeep Anand, P.E.,	Date:	-
Director of Public Works		
Kirk W. Buffington, C.P.M.	Date:	-
Director of Finance		
Paul G. Bangel		-
Senior Assistant City Attorney	Date:	
CITY OF FORT LAUDERDALE, a Florida mur	nicipality:	
*	. ,	
By: LEE R. FELDMAN, City Manager		Date:
LEE K. FELDINIAN, CITY Manager		Date.